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Observe the given pattern.

If the pattern continues, which could be the next two figures?

(A) (B) (©€) (D)

The fact family shown below is missing a fact.

3x8=24; 8x3=24; 248=3;, __ (?)__

Which is the missing fact?

(A)24 y3=8 (B)24y4=8 (C)24 +3=27 (D)24-4=20

Peter went to watch a movie at a cinema. The movie started at 11 :45 a.m. and lasted 1 h 45 min.
Choose the clock face that correctly shows the time at which the movie ended.

(A) (B) (©) (D)

In the adjoining figure how many different paths can be travelled from point Ato point D by visiting a
pointonly once?

(A)2 (B)3 (C)4 (D)5
Look at the puzzle. Which piece completes the puzzle?

(A) (B) (©) (D)

Which of the figures below has the line of symmetry drawn correctly?

(A) (B) (©) (D)

Find the odd one out.
(A)15 (B) 21 (C) 27 (D) 31

Rohitis incharge of feeding breakfast to the animals on his farm. He feeds them 4 oats every morning. If
Rohit has 16 oats left after feeding them on Sunday, what is the last day he will most likely have oats for
the animals?

(A) Wednesday (B) Thursday (C) Friday (D) Saturday
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ANSWER KEY

Class : VI SAMPLE PAPER
Q1 D Q31 B Q.61 A
Q2 B Q32 D Q.62 B
Q3 C Q33 C Q.63 A
Q4 B Q34 C Q.64 A
Q5 B Q35 A Q.65 B
Q6 C Q.36 D Q.66 D
Q7 B Q37 B Q.67 B
Q8 B Q38 C Q.68 B
Q9 D Q39 B Q.69 B
Q.10 B Q40 A Q.70 B
Q11 C Q41 B Q.71 B
Q.12 B Q42 C Q72 B
Q.13 B Q43 C Q.73 D
Q.14 A Q44 A Q.74 A
Q.15 B Q45 C Q.75 C
Q.16 C Q46 A Q.76 C
Q.17 B Q47 B Q.77 B
Q.18 C Q48 D Q.78 C
Q.19 D Q49 A Q.79 D
Q20 D Q.50 D Q.80 B
Q21 D Q.51 C

Q22 D Q52 B

Q23 C Q53 A

Q24 B Q.54 C

Q25 A Q55 A

Q26 C Q.56 B

Q27 A Q.57 A

Q28 D Q.58 C

Q29 B Q59 A

Q30 D Q.60 A





